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Lesson 6.5 

Using Inverse Operations to Solve Multiplication Problems 
 

Solve each equation and inequality by using inverse operations. 
Plot the answer(s) to the inequalities on a number line. 

 
1a.    3w = 18     1b.      3w > 18 
 
 
 
 
 
2a.    10x  =  190     2b.      10x  <  190 
 
 
 
 
 
3a.    14y  =  56      3b.      14y  ≤  56 
 
 
 
 
 
 
4a.    6m  =  216     4b.      6m  ≥  216  
 
 
 
 
 
 
5a.    12f  =  156     5b.      12f  >  156 
  
 
 
 
 



6a.    534  =  2w     6b.      534  >  2w 
 
 
 
 
 
 
7a.   75  =  4c       7a.   75  ≥   4c   
 
 
 
 
 
 
8a.   3  =  3d      8b.   3  ≤  3d   
 
 
 
 
 

 

 
 


